Statistics Chapter 1 Review

Determine if each statement is a parameter or statistic. ) N
1. The average credit card debt of 100 families sampled in Ohio is $12,375. gﬁifﬁ S17¢

2. In a study of all 2147 parolees in a city, 392 had violated parole in the last 6 months. p A {L}tf

3. The number of home runs hit by all Major League baseball players in the 2005 season was 5017.
(Baseball Almanac) ,Q By e,:Mf

4. In arecent survey of 2000 school-age children, it was found that they spend 6.5 hours per day
watching TV, using computers, or enjoying other electronic devices. 3 fg; +7 <2 ¢

For the questions S and 6, identify the (a) sample and the (b) population from each study.
5. A survey of 2850 smokers found that 78% had tried quitting smoking at least once in the last

year.

@) 285D SMokers

® A1l Sme kers

6. A survey 100 patients in a hospital ER showed the average wait time was 36 minutes.
@ 00 paFfrents i €R

®) A petrents i b €R

Determine if the data below is:
A) qualitative or quantitative?
B) at the nominal, ordinal, interval or ratio level of measurement?

7. The rating of a restaurant, on a scale from 1 to 5. (1 being terrible, 5 being great)
A) oaiifghot B Ordinal

8. A list of states you have visited.

8 Quaivta v B Nomonad

9. The number of chicken wings John can eat.

A) Quonttehvl B Ratio

10. The years in which all of your teachers were born.

A) Quanttahwl B japerval

Determine if the data below consists of qualitative or quantitative data.

11. The salaries of football players on a professional football team. CQL? s }g)z'ﬁ/ﬁ\f{/

12. Favorite breed of dog among 30 second-graders. (fa A (}J ;av ‘)L(fu‘i vl
Identify which data collection method is best for each situation below: observation, experiment,

simulation, or survey.



13. A study on the effect of eliminating a turn lane on a major road to examine if it increases or

decreases the number of car crashes. S V‘WC& @L}lm
14. A study on how often a child puts toys in their mouth. 0 b SerV {t}f’éé"}/\

15. A study of student ratings about school lunches. SW

16. A study of the effect of eating oatmeal every day to see if it lowers blood pressure.
Exper imand

For #7 — 21, identify which types of sampling are being used below: random, systematic,
convenience, stratified, or cluster.
17. Arrange all students in school in alphabetical order, and then choose every 50 person to

participate in a survey.
&j stomattC

18. To do a survey on smoking, a sample of 500 people is divided into age groups (10-19, 20-29,
30-39, etc). Then 15 people from each age group are given the survey.

Somi From ald —> Strahf el

19. A city needs to collect data on services used. Households in the city are numbered from 1 to
45,000. A computer is used to generate random numbers to choose 150 households to participate in

this survey. /{ an CQE-’* "

20. A researcher stands outside Target to survey shoppers about their spending habits.
(onveniepce

21. The office of the Mayor of New York City wants to know what residents think about the
subway system. The city has 176 zip codes. A survey of all the residents in 12 zip codes is

conducted. )
Al prom SOl — Clyster

22. Fifty people who walked in the 3-Day Breast Cancer walk are selected at random and their ages

are recorded.
A. Is the data qualitative or quantitative? CQ vanh tahae

B. What level (nominal, ordinal, interval, ratio) of measurement are the data? E‘Ch O

C. What is the population? ho 1o al Léa Lfg e Hu?., 5
Al peoy e w Loal k.

23. Give an example of a convenience sample that is biased.

Yawja fo a wi

4ask TF & person W%V{LS ea



Nno
24. Give an example of an experiment that has a confounding variable.

You stop drtnkurg pop ana Y wal K 740/’ School.
\/&. TR gfg}&éj K Cgé%fg I 1S move eiFfeche
Lo Wb [oss ?

25. How is a data value 4t the interval level different} from a data value at the ratio level?
Data ot Hinkeival leve [ Can /4,% @/i;w&iff (g~
Folly added. +subtatkd s sydercal. o fev

AGHE. (o do ok, koo | pyutcam alsO be mudsti pludl

26. Use the information “In a sample of 350 college seniors, 318 had applied to college by ¢3¢~ ggj vl 5@@5
February of their senior year.” SYL oY 1 @ (Lj
A) What is the descriptive branch? » ./Q atip Fevel
- > - g , - (e,
318 ot of 350 Sencov< QFP‘{"—M{ o co 7< d{ﬁﬁp 4180
has ad
B) Make an inference about the sample: / i e ”}f"
] ) .
Mozt seniors opplied ror Qe e,

college ,5? ﬁf@&zmg@u/

27. What is replication and why is it important? h
&Pﬁ/ﬁﬁﬁﬁ‘}’\ (3 Jdao ab ig%j oF éé;f\ foﬁ Z@“;’iﬁ ?zxc’#z Yy
pe repeated Mang, many FE) T T L )
He sape reSULs. /7S Trfo e Studly 15
Hak He reswifs are rRlidbly iﬁ?i j&/ aled
28. What methods are used to ensure that subjects are randomly assigned to a treatment/placebo
gmu%; ndling ok double blinding Can Lo tse ol
fo Guardh dgand b e placlp dnd oot

O 4Fech
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Section 2-1: Frequency Distributions and Their Graphs J

*Construct a frequency distribution including limits, midpoints, relative frequencies, cumulative
frequencies and boundaries.

* Answer questions about a frequency distribution or its graph.

*Construct a frequency histogram, frequency polygon, relative frequency histogram, or ogive
from a given data set or frequency distribution.

* Answer questions about a graph.

Statistics - 2.1-2.2 Review Name:

Use the table below to answer questions 1 -9.

Daily Low Frequency | Midpoints | Relative | Cumulative Class
Temperature (F'°) Frequency | Frequency | Boundaries
35-39 1. 33 L e an
<3| 35 <10 | HOHAS
40-44 - 3 %

Hy |E= 09| 1 |AS-mS

(3
Q/”‘a

45-49 5 ¥ — p
o “44 S R L A

T g 31| 10 |ms-sus

ft

5559 7 52 o | LF S-S

@
[

. T e O | B 556 - wug

S s W (W
e

®
o |9

65-69 1 - R _ - A
Ji=ns | T |3¢% .03 35 - et

Identify the class width. #0—35'=S o b4-S7= 5 of 5775% =S ;
Complete the remaining columns. +~ 3% € LSS, 50-54
Create a frequency histogram. Identify the class with the least and greatest frequency.
Create a relative frequency histogram.” '
Create a frequency polygon. »~
Create an ogive. Which class has the largest increase in frequency? 5054
What percent of the days had a low temperature of 50° or higher? 2¢& ., 7%,
What did you do to answer #6? Added yelaR Mef‘/wz{% 3@5 fop ST-CY
. How many days had low temperatures in the 40°s? £ 4 ¢
0. What did you do to answer #§? 4 golo ol He 2 h'%mgw s (3¢S )

in. e 550(5 er_ (ifan-l»{[,/’ ‘f”i"{j“{) t{:‘;)

SORNAT A LN -

+*Be able to explain advantages/disadvantages when using the above graphical displays (ex: why
choose stem-and-leaf plot over histogram).



Use the stem-and-leaf plot below for questions 11-13.

Key 1|7=1.7

~NO bk WN 2O

6

179
26
2478
15699
368
24457

%

11. What is the minimum and maximum value in the stem-and-leaf plot? Q/ G F C

@ 10,17, 19,22, %,3:4,3% 258
}

lf{,lf,ff‘fi(;/% 4.4, 5.3 8.6 &
6.2, 6y, Q.C/)é;,~(, ¢

mg‘r&“&b\’{:
£y lask 2

12. Write the data set represented by the stem-and-leaf plot.
13. Create a dot plot using the data in the stem-and-leaf plot.

Use the data below to answer questions 14 — 16.
The table below shows the responses of a poll of adults on June 16, 2006 about whether America

should keep the penny.
Response | # of people
Yes 58

No 148

Not Sure 44

n= 250

14. What percent said “yes” to keeping the penny? fé@ = 237"
15 Create a pie chart using the data above.
16 Create a Pareto chart using the responses above.

17 Use a time series chart to display the data below.
Number of Collision Between Wildlife and Aircraft

Year
1990
1992
1994
1996
1998
2000
2002
2004
2006

Collisions

1285
1383
2775
6323
5204
4091
5622
4990
5457
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Statistics
U Hour:
Use the data below to answer questions 1 and 2.
The costs of 20 textbooks chosen randomly from a college bookstore are listed below. )
$125 $98 $132 $112 $86 $100 $98 $120 $90  $38 - Ko A@ﬁ o
$115 $130 $95 $100 $89 $93  $105 $98  §$122 §$130 /@O/‘”ﬁ (/OOv‘éY)
1. Find the following values for the da; set. (Be careful with SD—is it sample or pop?) Outler Chaolt.
o | Durier 2=
Mean: X = ZQ"”;&Q Stand Dev: A =250 Min = £54 Max= _&/3 2 04,,,_)[(}5’1,
#/p3.80 ! :
: Bo2 (D
0=_*7_ Median: _# /00 o =*/2( Mode: 278 57 ’; -
21+ YO

LTRR=12]=94=2% 2%(is) =40& £101, SO
2. Construct a box and whisker plot of the data below. You can add more tick marks if necessary.
ColLett Teurbook PAICES «58 16
' A

,,* | o—t b f—s : s
el 2 3 3 2 & 1} 2 ] sy
&% (] ¥ ¥ ¥ T < L ¥ g 1 ' d
e S ge B B R ST W 20 30 o
CosT (5 )
3. Given the following data set, explain whether the mean or median would be the best measure of. Qa
, ; .
central tendency. 7hesrc Q4R NO sutliers fo Skeas H= g&#"‘geff negsoc 36 gi s
Ages of people in a library on a Tuesday afternoon: Weain « =345 22
of~ cegtled, S Tazs

63 36 28 42 39 53 59 45 62 23

nin = = 3 2 42.C :$Y  wa GR-59-26=23 (.S, 435)
min= 2% Q= 36 @ £ @357 maxéesd / Rz 3 e / .

4. The ages in years when 13-randomly people moved the first time shown below. Use the data to
find the range and the sample standard deviation.

noun -t 1%

6 9 12 15 12 13 14 21 10 17 11 14

Range = 2/ -(o=(S yrs  Standard deviation: M 4 Vs

Did you use sample or population standard deviation? SQ/V\/\{QCQ

5. Grade points are assigned as follows: A=4,B=3,C=2,D=1 and E = 0. Grades are
weighted according to credit hours. If a student receives an B ina 3-credit hour class,an Aina
4-credit hour class, an B in a 4-credit hour class, and a C in a 2-credit hour class, what is the

student’s grade point average?
(w3

Crd QR Glrs  xw » |
z |3 2‘ éPAééi@:%’tj’(g

) i o [ <w f @
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6. The data below shows the number of miles that members of the cross country team ran in one
weH4 Find the mean of the frequency distribution.

Number of miles run per week
mdphs

Miles |*| Frequency % §

1-3 12 4

4-6S 8 4O | }
7-9|% 9 7L /LL:ZfXI[’: 233% 7, ¢ miles
fo-1w 7 ) 73 WA Y

13 — 1814 3 3k

3 4£=31 gxf=2%3

7. 1Q scores in the U.S. generally have a mean of 100 with a standard deviation of 15. IQ scores
follow a bell-shaped distribution. Estimate the percent of Americans with IQ scores above 115.
N W 13,S+ 2,38 *'lgtl@q@
sC _; 2 ‘bo g 1BO 18 S
8. ACT scores in the U.S. are normally distributed, with a bell-shaped curve. It has been found that
onthe ACT, z=21lando =4.7. Between what two values would 99 7% of scores fall?
- P 6.
20 £3(43) = 21z 14, Ny 35 9979 ofsv‘ucéw t scoe b -~
9. The ages of new hires at a corporation were collected and found that the mean age at the date of AT
hire was 29 years old with a standard deviation of 3.6 years. If the data is skewed right, abO}l’[ what
percentage of the employees are hired between the ages of 21.8 and 36.2?7 Chebychevs b
— =2 — 1 K=2 i pe. be fusoean
o e Adleast 78 of hew) haces &84-36 S ACS
10. The mean and2 standard deviation for a psychology test is x =83.5 and s = 2.7. If Martha
received a score of 96, calculate her z-score. Is Martha’s test score usual or unusual? Explain.

Mwéq"‘gg

z-score: 4 63 . A
o2 | 2= M _ /z,§‘ - gL
Explanation: 2.F

Her score s hghte, vavsual « Ay 2 scor >3 (S heghty v nsuel

11. A newborn baby’s weight placed her in the 84™ percentile. What can you conclude about this
baby’s weight compared to other newborns?

She weghs Mo’ o &4, of babes of H« SCW,

12. The box and whisker plot graphs the weights of players on a football team. Use it to answer

arts [A] - [D].
parts (4] (D] [A] About 25% of weights are above___z_a(_‘?__@/ 257 (bs

: « [B] One half of the weights are between and_Sce belowd
____.___.‘ [C] About 75% of weights are below 2%(./223 (b5
LS IPS IS PPN SIS ¢ S PRI W [D] About 75% of weights are above (9% (hs
150 200 250 300 t}u
Players’ Weights {ibs) L J
; ‘ B Gpsuds P2
B\ AR )

5 =220 (w2 )
a6 — 2207 (G 7 G2

wMU?”5®(@3?MMd
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(DL X(x=7)
(Dl (x2 ) (x-2.) = -8 X6
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